B RAINSE AN GHAIRMOIDEACHATIS,

CERT1FICATE EXAMINATION FOR DAY VOCATIONAL COURSES, 1965,

MATHEMATIC S.
WEDNESDAY, 16th JUNE—10 a,m, to 1 p.m,

INSTRUCTIONS,

Attempt question 1 and mix others,

The marks allotted to each question are shown in brackets,

Mathematical Tables and & in, graph paper are supplied,

Special credit will be given to candidates who display neatness and order in
answering,

(e) A1l the work must be shown in the answer book,

pQoP

1. (a) Using the tebles supplied (where necessary), write down: log 0-043, log 10'"37,
antilog 153, antilog 3.

(b) A dealer bought z egegs at y shillings ver dozen and so0ld them at z shillings per
score, Write expressions for (1) his profit, (i1) hise profit per cent,

(e) Find the value of 2-72% — 1-5732 correct to two pPlaces of decimals,
(d) A triangle ABC is right-angled at B, Prove that sin?A + cos?A = 1.

(e) If A = 2H(L + B), find B in terms of A, H and L and ealculate its value when

A=U416, H=8and L = 14.
(20 marks)
’ 5% of 3% + 3% e® + 53 ; o +gbh —2p% ; g® 4+ Z2ab
2. Simplify: (a) mEhL e & & (v) -2 af . ah i b a’
(12 marks)

3« Show how to construct geometrically a tangent to a circle from an external point.

A
4
1 2 3
o
B FIG 1

AB 18 a tangent to the circle whose centre is 0 (Fig, 1),

Without using a protractor,
find the number of degrees in each of the angles 1, 2, 3 and L

.

(12 marks)
4o (a) Evaluate, using logarithms: ’ 875 x 0-0057
(1-37)"
sl B
(b) If e =a & then 108.'2: = Fereereresssstusnans (12 marks)
5« Solve the equations:—
x @ =15 _
(1) o5 025 = 1
(11) 2:c+y=3as—_g. = 8
(111) x® — 16z =0 (12 marks)
over-

I
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6a Solve the —_ A = 2
(a) by the method of factorisntion,

equation 2x?

(b) by completing the squnre.
(12 marks)

7. The dimensions of an iron washer are:
10 cm,, thickness 2 mm.

How many such washers would welgh 594

external diameter 2+5 cm., internal diameter

grams ? (Iron weighs

1-2 EMB, PEr C.Csq}
m=3

8. By drawing suitable triangles and making any necessary calculations, show that

tan L45°ie greater than tan 30° and less than tan60°,

B

a4

10"

FIG, 2

In the triangle ABC (Fig, 2), BN is parpcndicular to AC, Calculate (i) the mapgnitude
of the angle G, (ii) the length of NC, (111) the length of BC. (an )
14 marks

9, In an experiment to find the relatlonship between two quantities z and y the following
values were cobtalinedi—

2-8
72

b2 5
11+5

x

5
b6

3+5
86

4] 10

Set out these results in the form of a graph and from the graph determine (1) the

(14 marks)

yalue of y when @ = 24 (11) the law of the graph in the form y = mx + Ca
(14 marks)
10, The triangle ABC in Fig, 3 18 drawn on % in, squared paper,
(a) What are the co—ordinates of the points A, B and C 7
(b) Calculate the area of the triangle ABC in sguare inches,.
(1L marks)
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